
�C�

O��,���R�;���
T�=���	����

�	�
!�'�
����!�.	��N&C���T�CHM������T��LM��
�����T�C%������T�H�K������T��%�����
����T���
����C�����$

	
�T�H�ONL���:��T���:�T���
�T�
�
�T��H�(����(�H��	T�����T�'������?5��������������	��������������'	����(���������������������	�
�� �

645�547T�/
2��
�1���=�0�� T��%%LT���������M&�

H��,���U����&
��������/	��
�����	%��	�"�
��(
����	%�	��
���(
���	C���	%�	�����	=!��
�.�\�1�i���L����T�N�N������T�CL������T�

�M%H���:��T���
���L%%����	
�T��N%��
����T�
�
�T���
�T���:�T��&�(����(�H��	T�����T�CF��5���������������	������T�����������������������	�������6���&

�	�
����������������	�
��O� �
����"�����
0� "T��MMMT����������LL����LM0�NL&���NLM�

���������R������������5(����>
����4
����J����R�<��E����������
��������
�

�����4
�����
��J���������������������=>
���1	�����=>
�

�����������B�996�7R��L�$�C�0��
��!G���0��%�&



�C�


	�����?	����
� �


�
�������������

%.����
��
�%���������	
/�
�0	��
���1�+)���
�%�9

2���
��
	
��	���#$����3�+��$�����%�&���
3�
������������.+�8��.��D��R�8.�
������5(����������
���
�����
��

���� �����
��
:�8�(��

3�
������������.+�8��.��D��R�8.�
������5(����������
���
�����
�

���� �����
��
:�8�(��

��2+���
�
�����,����
��	���
���(��E���
�0�
�����
	���������
	�
���	�-���3�����
	��
��
J��

�� �5	�������
� �3������
 � �	 ����
�
	��� ��
�������
 � �� �'������?5� � ������������	 � �� � #��������	�
���

614�85�5�5�7� ��� ���
:���
����
�5����
�-@��
��3���������	�	���	��������
������������14�85�5�5��

L��3���������	���J�������
���
�����5�������������	������
�����
���
�����
������������14�85�5�5���C������E$

�
�����
������������14�85�5�5���N��3���������	����������,�����
���
������������14�85�5�5���

������������J
���	E���

�
�
+	
�9�>
+�
3���
���	
�
���
1��������������
�
���
�������D���	
�
���
���D���
�
���
8�������
�
���
�
L�JM�	��
3�
��*��	
�
�+
1��������������
�
�+
������+�.��	
�
�+
������
�+
 ������.
�
�+

�
�
!	
�9��
+�
3���
*��	
�
�K�
1�������������
�
�K�
1�������
�
�K�
�������D���	
�
�K�
8������
�
�K�

3������
5���������
�@���������
��
��
�����
�����������

���
��
�������
������
����������(�
� �

��������K����
�����������I�������
���������
�������
���=>
�1��������
�������8�������
$
�
����614�85�5�5�70��
�����
���
��=I��������
�
��������
������������0����
���J������
�
�������������	�����������
��������D��������

G����
�@�������������
	������.���
�������
������������@������������������
�����
��	������I�������������������&	���0�����������
���
�����������I��������

��=>
�����������0�:��
������
�
������	���
�������
�����������&
�����	 
����E�����(�
���������
	�����:���=>
�����@�����������������
���:���������0����2�
�������������������=>
�����@������������
��
������
��K�����������2�=>
������
���
�����$
�
������������
���0��
��:�	�
����������
���
�D������
�����
�����������������14�85�5$
�5�����	��
�
�
�����	��������:
��
���
�����������������
���
�������
�0��������
�������

�������
��������(����J������������KD�������
�����D�����
���0����
��������	���
����=I�� �
�
��������
�E�����0�������:���	������D������������
������Q����������������
��=I������$
�
�����	����������=>
��	������
�����4
��������
�
�����������
�����
�����	�D�������$
����=>
������ ��	�����
���0 �����
����� ������������� �� �����
� ������������
�0 ��	���
�
�������������J����0��(�������
������������


!��	
���
8.���������������.���������
:����
��������
:�������

������������������������
�����
: �

����������������(����������	��������
:��
���������
:��.��1��������
�������
�����
��
:�
������
�+�614�85�5�5�70������
��������
����:�
	�����+���������

���
����0�����+����:$
�(��������������
�.����������.������������8.���
�������
������	�����������.�����.������ �

+���������.��D�����������
+��.����
������	������������
�$�������������
��0�������������
�.����������
��������.�������
�	����
:�V������0�V.��.�:��
�����.���	��������
:������$
�
��������
����
����8.����(���������V��.�����:�����
��
:��.����
������������.+����.$
��D��0�������������.���������
�����+��.�����.��D�����	�����
�	�*�����������
����
�
�.�� �
�������������
���0 ����0 � ��� �.�����0 ���������� �.������������.������
+�	�	
����
:�14 �
85�5�5���8.��	��.
�
�
�+��	��
+���V�������
�����
�����	
����
��������0����$
�
�����
+��������.���j����
���������������+�.����(���������0��������.�
:��
��������
$
�
��������
������
��0������:�����+��.
������������
������0���������
�����
����:�
	��������$
����
������
��������
�
�+���������8.�����.
����
��������.������������
���	
���.������0�
��
����
:���������������
����������.
�����������0��	���:�����.�����������������0������($
�������������

3�������
5�������K���
������������
������
�����
����������

�����
�����
��������
��+���
�����

�����(�
���������K����
�������������������
��������
���������
���������
�����E��1������$
�����
�����
��
��	R����%���%�&�
���
���
��������
����=>
��	R��L�%N��%�&�


�
��R�/����
�����	����8@���������8�������
���:���3�����R�
���J�����8��������������
��=>
��� ����>
����8�(�
��

�����������B�996�7R��C�$�CH0��
��!G���0��%�&



�CL

��
�������8������
�
�K��614�85�5�5�70��
��������
���
����
���������
�
���������
��
�������������0����
�����������
���������+���	
�@���������
����������������
�����5��

G�$
���
�������������+��
	�������������
������
��������@����������������
���������
�������$
��
�����������������+�
�$����0������������
�������������
����+�������

����E����������$
�������0�:��
�������
���������	����
������
����
�����������
�E�������5����(�
��
	���2��
�
�������:�����E���������@�������������������
���:K��������0�	���������������������������$
��E���������@�������
������������
������
��
�����������2���E���
��
��
������
�����������
� �
+0�:����	������
����������
���
�D������
���
���
��������������������14�85�5�5 �����
-��
�
�
�K���	�������:��������
������������������
���
�������
��������+���������
����$
���
��+������(�����������������KD����������
������������
���0�����
������������
������
$
�����
�������
�E�����0������K:���	������D�������������
�������������������+�������
��$
��
��� � ����
����� � ������� � �� � �����������E� � �� � �����
� � �� � �� � 4
�������
�
�K�� � �
��
���
�����
����+���D���������������E���������	�����
���0�����
������������������+����$
�
������������
�0��	���E�������������������0��(��������
������������

,E%3? 8NO?


�	�����
#$�P���	
����=>
���������������������������
����
������
��
������:���
����
������	����������&

���������������5��������������?@���������������A�����������������������6#�141�7���������������=>
��������$

	�������������K:�������4
��������
�
���0���
	
����
�����
��������Q���
��=>
����D���K��������������������

�����������	 
���������-�����������������	�644417�

?��	�����
��P�����
�������
��������
���=>
�1��������
�������8�������
�
����614�85�5�5�7��������$

��	���
�
���������������������������@�����������������
���:���������0�������
��������������:����=>
�����:��$

����
�
���������������D����������:K�����6�D�����7��
�������
���	���
����1��������������
�
�����
��	��
��
���$

��������	
�

?!@���+�P���

G����
�@�������������
	������.���
�������������������@����������������	������I���������$

����������&	���0������������
�����������I��0������

��=>
����������������	
@	������������=>
��
����
��.
������$

2��
0�:��
������
�
������	���
�������
����������������	 
���������������������=>
������@������������������

��������

����������
P���	@�
�
������2��
�:
��
���
������������

���
���	�����
�.��
�������
���
�������
�����14�

85�5�5�0��
������
���������I������������������
	�����=>
������������������������P����������@���
�����*����

%=���B����	�����
�����
��(I�������
2����K��
0��
	��������������
����2��
���	�C��������R�/
2��
�1���=�0�� T�

�>
�����
0���T�4�(�����
����0� �T�4��.
������
����0� ����������
�������
��
���(�
�������
�:
��	������2��
��


�������
������(����J������������KD�������
�����D�����
�������
���0�����
��������
�
��
���:���������
��=I���

����
�����	������
�����4
��������
�
����

���	���	
P�����(�
����������������
��	�C���=I��R

���%.����
��
�%���������	
/�
�0	��
����
��3��
#:���,���	���������
	��P

�����
�
���
�%.����
��
�%���������	
/�
�0	��
�P

L��?�����
#:�����������
�������0	
/��.������P

C��3�����
����%�2�����P

,P�%F�E,�
� 
�%�E���''?03
�,
�038�
6���
'�3�6
NS�'�,E%�3 ,'�,�6,E
3�'

 �/�������
P����-������������������
������
����	�@�
��
�G���
������
����	���
���������
���������
��$

�����������
��=I�������
�
�E����������������

���������:�������@���������
���6�������70������2���
���	
����$

=>
0��������������������
�����=>
��������>
������(�
�0��
��	��
����D�����
��	���
������:��(I��0������:
�	��$


�
��R�/����
�����	����8@���������8�������
���:���3�����R�
���J�����8��������������
��=>
��� ����>
����8�(�
��

�����������B�996�7R��C�$�CH0��
��!G���0��%�&



�CC

�
��	��������2���	�������D����	���
��
�����������
���(����	���
�������������������������
������:��Z	�$

�
����������K����
��

,��	����������
P����@�����������������
���:�����������
	�=
������������������
	�
�����������������14�

85�5�5���	�G��.
�����%�N�D����
�:
��������
�
������
����,������������#�������+����	B�����������
��
�<��

� �������#������B��	��M�����%�N�

*��	����������
P����
����=>
��	���������	�����
������:K���
���������
�����=>
����������
��	��������2� $

=>
���������������
�������
�������
�0��
��	��
����������
��(>
��
	�����D����(������������2������	�8���$

����
�
���0��(����D���������������

���
����
������
0����(���
�������
�����
���������
������(��	�
�P�����

�	�
��+�����
P���������������0��
����2��0��.��
�������
������
�
�
�����
�����
�
�:�
���������	���>
��($

���:K���
�������
����
�
����
��
���
�
�0����(�	��
��������
��	
���
�R������0����P	����0�����
�����
������
�

���,���������#�������+����	�

0	����
	������
P�������=>
�������
���
	�
�������������@	����	���������>
0��(����
����
�
��
��K��
�

������
�
�
����������Q��	���:����=I����
���	�����
�����(���:K���
�0���������
����E��
�����
���
��


��
	�����
P�[�
������������	����
������������������������������������I����
	���������=>
��
�����>
�

	������
	����
����������������������
���
��	���
������@���
���
���
�����������:��J�����������:K���������������$

�
����D����
�����	��
������
����
��.
�

������������
P������D������
������
��
��������
�E���
��
��	��
��������
�0�������
��������E���
���	
����

��������:����
��:��Z	��
��������:��Z	��
���(����	�����
�����
����������������������������������
	�����



����
��������	���
����:
����J���
�

 �!
������
P�����������I����������:������0��
����2�������
�����0��(�	���:���	��������������������������

�
	������.�������	�����
��	��
�����
�

?	�
���
�������
P�����(�
���������
��
�����K�
���
�����2��
��
	������������=>
��������������������
� �

�������������0�
������������
��������
�0��	������0�@��������������	���>
��(���:K���������
����������������������

��:Z�	��.
�
����J������
���	��

,�/�	�
��������
P���������I����
��%=����
����	��������	���	����
����
��=>
�����
�
��
����������������

	��	
��	�
�������
����������

,,P��%
�
'� 
�%F�E,�
� 
�%�E���''?03
�,
�038�
6

%.����
P����-������������������
������
����	�@��	��
��������	���
��������D��������8�������
���:
�
$

�����5�������0�
�����2���������:��=
����	���@�������G����
�����
�������������:
�=
���
������	���
�	������
 $

	����
�

��
�
�P���E��������������������=>
�����@�������
������
�0�
�����
��������:�����	�D���
��
�G���
������
$

����	���
���
	�

	�:����
��	���
������&�������������2����0�����D�������������������=>
���D�������R�

���%��
P��
��=>
������	������������
�����Q��������0���������
�����0��
�:
�	������������������
��������
�

����
�

����������	�P�5��
�.������	��
���������������������
�����2���
���(�
���������
�������
���	���
�����@�$

����0��
����
�.�����	����=���
�:
�	��������������

L���������
P����D�������

���
���	���	�	�������������
�K������	�������
���������0����(�	��
��
�������$

��
���
�����
�(����	���
����������
�E���
�T���������������
��=I��T�����=>
���������
T��������	���
�
�
��
$

���:��
�����:
���:��
T������>
���(���������
����=I������:
����J������

C����!�#�P�5(�
�=>
������

=
�6��D�����
0���(
0�������.
7������
�
������	�������
����������������


�
��R�/����
�����	����8@���������8�������
���:���3�����R�
���J�����8��������������
��=>
��� ����>
����8�(�
��

�����������B�996�7R��C�$�CH0��
��!G���0��%�&



�CN

N�� �!
��P�������������������
	�
�����	����
�(����J��������������������
��
�.���	���
�.�����
��

�� �


���	��
����	��������0��
	���	����������
��������	
�
�:����
����
���
�������
������
����
�	�
��������$

	���
��
��K�����

������D����I����:�������
�����������=>
��
����.��
�����D���K����
������������������=I�� �

�	�����
��

O��*�������P���.��E�����@�D������D����(����������2�����	�8�������
�
�����G�����
���
����
�����������$

��������������Q�������:�����������
�����
�K��
���K���
0��E���
�������K���
��
����������������

H��
�2�����P ��������������
���������
���������
�(����J������������KD�����0������
�����=I���������:��
�

������:��
���������
����������������
������Q���	�����0 ���	����>
�Q��.��E���������D���K�����������
	
����

��������������������������������������������	������
	�����������������������������
�����J������
�.
�
������� �

���:
��������
�E���
��������

&����!���
#$�P�����������
�

���
�������	�����
�������	��.��
����
��K������
����=>
0����	�����
��(�
$

��=>
�����������0������
�����:�����������
������
����J��������Q�	������	����
��������0��
������2���
�������

3���+4���
P�������
������������	����������=>
��������@���������
���
���������
��������	���
��������=���

	�������������:������������������������
��
	�
�����
��	���
��
�.
�
������������
����J�������:���0��������$

�K����������������������������
�:�����=>
��
��
�����
���������

,,,P�?%,�,H
NS�'� ?'��8E 
��E%?'�03
�?%F�E,�?'

 �/�������
��^��
��	�2�=>
�@�
��
�G���
��
��	��.
������
����	���
���@����
�0�����2������
�
������(��������0�
��E��	��0�����������
��=I����(�����������������(���=>
�����������	���
$
G��
�
���	�������	���
0�������
$��0�����������0�Q�	�(�	����
(�	�������
��K�����
�������
�
�
���
0������
�����	���
��=>
���

��0��
����������������0�
����G�R�������
����
��������
5�����	
�
�������
�:
�	�����������������#������A������/��������;��	T�6������0��MMC0����&�7�

 ����+��+����������
P �������=>
�����
���=I���	����:��
������������
�������
���	���
��
���
������$

�������������������=>
��������������
��
��
�����
�	�����	��
�����D�����

'������������
P�5��0�N���
����	���
�0��(����	�����
�����
�����
���0�D���:�������	���
��	�2�=>
�������$

D������	�����
0�������
���	�
���	���:�
@����R

���
!�	�����P�4��	��������
����������������
�����
���
0�.
��2
����0���	�������=I��0���:���2���
���
�����

���������	��������=�������(�����

���
���	��

������	���	
�� ����>
���	����0����K
�
������.
���0�.
����
�:�(
0���������������������
���	��K����
0���$


�����
���	����

�����������

L���&�	
�P��
��	�
�
����������I����(�����

C��,���
�P������������������������������
����
������>
������������
���(�
���
G����
��	����������������>
 �

�
�G������

N�� 3�����	��P ��>
�����������
��
�����
��������
���
�� ����:��Z	��
�����������
�����
���������������0�


�
����
�������0��������������
������������������������0����(�	��
������
G�=I��0 �����
���B �����������=I���

����
���E��������
����������������������
���	����������������	�����
�

����������������������	
�����
�������	
�����������
�
�����������
�������������������
��������������������	����������������������
���������	����������
��������������������������������	������ �

�����	���
�����	�����������������
�����������������������������


�
��R�/����
�����	����8@���������8�������
���:���3�����R�
���J�����8��������������
��=>
��� ����>
����8�(�
��

�����������B�996�7R��C�$�CH0��
��!G���0��%�&



�CO

,1P�3�'86%
 ?'�%�Z%,�?'

�/��������
P�����:���
�������������=>
����.
�
�������������
�����
�E��������������
�(��������
�:���=��

��	
���������	�C�������������
����������0��	�
���	�����	�
��P����R

������+�+������
P��
����
�$���
�������
���	���
���:
�������	���
�����
��������������
�����
0��
	�
��
���������������������
$�������2��������
��2�������
�����������
�E���������	
�
�������

�������
�

������
/	
��	������
P�<
����	�����
	������>
�������:��������������
���0�����
���	�����
�����������$

������������
����������������	0����������
���������������J������������

L���
	
/�����������
P�������������=>
�����D����(�����������Q�8�������
�
�����	������
�������D������
��������

C��0����������
P��
����
�$�����:
�	�=>
������
���
�����	�8�������
�
��������
����������	�������
��$
=>
���������
�������@���������@����������D����:���=>
������
��=>
��
�����
�����������
��

�������������������	��������������������������������������
���	���������
���������	����������	��������������
�����


��������������
���������������������������������������������� �
���	����������������
����������	�������������������
�����

�?E', �3
NS�'��,E
,'


�����
��/��
#$�P ������D�������������
�0������
�����
����D��0�� ���/	�������������	 
��������������

���-������������������
������
����	� ���
���
�������
������������������@$�������������	
�����
0������
������

�����=I�������
���=>
��
�
��Z	�
����������������$���D�����
�������=���	�����������
D����:���=>
�

�����P��
�������������:�������@�����0��
��������2�$���
�.
�
����������������K����
����	����$�����������=>
�

�
	�
���	�����
�������������2��
���	�8�������
�
���0�:��
������
�
�����
�
��	�2��
�����D����:���=>
��
�

��������������������������

�
	
��&�P����@��������������
��
�������$������������������������������	�������-��
����	R���������	�

����
������	�����
���0�����
�������������������������
�������������
�0��	����$����������������J����0�������� �

	
�
0������������(������

�	�����������
P�%�"��������A������������/����B�����6�����������������	��
��

0	��
���
��P�5�������
�$������	�
��P������
����
��.
��	��D����0�D����:����
���������������������:
���$

�����
��������2��
��
��K��
������������D����
�	�����=���?�����


�	
����������P���@	��
�����
�����
����
�K��	�����
�������������14�85�5�5�������������	@���0����$

��������E��� 
����
�-������-���2����+�0�Q��D�����
�����
���������������
��	���.����������	���
��:������
��

�,�6,?03
�,
��'���T�,�


��� 1���	
R� ;���
T� D��	�"�
���

��� 	 %� 	��
���

��������. 	��%N&���T �C% � ��=I��T ��%% � ��
��=I��T � H%% � �����T ��CH ��
�����T

����
�
�
���T��%%������T���(&���	O�O%%������T��H��������������	
�T�����
��T�L%%�������T���
����&%����	
�T�N���O���:��T���:�T���
�T�
�
�T�

�&0N�(���0N�(�H��	T�����T�����������������������	�������6����	�
��O� �
����"�����
0� "T��MMCT���������&����&H�

�


�
��R�/����
�����	����8@���������8�������
���:���3�����R�
���J�����8��������������
��=>
��� ����>
����8�(�
��

�����������B�996�7R��C�$�CH0��
��!G���0��%�&


